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- Grey line: exponential fit Peak flux: 2.372+/- 0.512 c/s/cm® -
C Black line: power law + gauss fit Fluence : 32.52+/- 15.52 c/cm? -
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= Expon.time: 7.03+/- 1.27 s (chi*red= 1.29) =
S Wb bt bbb O et i b g mh
= ‘T*ﬁﬂw“ I g* HﬂHWHWH%%HHHHHWWHH ﬁ#:ﬁm ! ***ﬂﬂw*ﬁw# M Wﬁﬁﬁ#ww*jﬁwmW*ﬁﬁﬁﬁwﬁﬁﬁﬁﬁw: * VA Hﬁ%
; Power law fit é
= Power law index: -1.288+/- 0.166 (chi’-red= 1.34) 3
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—  Power law fit plus Gaussian (st.dev.= 7.46+/- 0.48 s, fracgs= 0.76+/- 0.21) =
- Power law index: -0.795+/- 0.563 (chi*-red= 1.29) 3
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